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g 1 dy X"y y
—— X = yzx'2 — HEHTE
dy 'y
é\z=x3 ’ ﬁﬁ'ffhj‘j—y——z—3y

BBl z=e” (jsyze " dy+C)
=y (I;dy+C)=Cy3+y3ln|y|
FEAREREBAN  ¥=C+y’n)y
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3. xy’+2y=xInx, Hy(d)= —%

. AR Yl o

dx Xx

. —J‘de de
BfE  y=e "~ C+Ilnxe * dx

c 1 1
=—+ xInx——x
X 3 9
AR y=1xlnx—1x
3 9
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4. RPSFRE xp” —y' =x K EVIEEE y(1)=1

f#.4)32 WHFRASTEE xp' — p=x?,
1
Bl p-—pr=x -———KIEFREHETE

X
Ildx - ldx
p=e* (I xe °* dx+C))
=e“”‘(j xe "dx+C,)=x"+C,x

yr (=2, 723 Cl Bl DA yr _
= . 2+ . S 1
wg%f.ﬁ -*/E\Iﬁﬁ Yy = %x?, + %'i'xcz y(1)=1’ %2 = g-
PRI v = xt e ]
17 \ y 3 9 6 .
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] 2. BEIHZ L= A4(1,0) % B(0,1), EABAMN , PFIHRZ:
c £ 5 FBIYE—= , EX03 PB5 3% PBRREIRIEIAZAY
ERA PRURAIRRYILTS | KIL G TE

. IR y= f(x)
BN R J'x f(t)dt — [f(x) +1]x _ )3

RS : f(0)-L (x2)+1 xf(x) 3x?Ef(1) =0
1

RF: y'——y =———6xHy1)=0

RSy = f(x)=—-6x"+5x+1, x €[0,1]
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#l 3.

RIS, RKILHZEHE .
. BHERER: y= f(x)

R

2z =y, BUEESFGTES

2R |y - xyl_x I

\/1+y

y* = x(C - x)

AR R S B R B VI R PT R R R K S5

4]

FE(x, RV TTE: Y—y=)y"(X-x)

1

_J’——_J’

2x 2

P
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18] AR—IELEREL £ (x), BRF(x) = sinx — j 0" f(x—t)dt

. W|x—-t=u
j Ox f(x—1t)dt = j Ox f(w)du
HREAR: fF(x)=sinx— j Ox f(uw)du

REGHRAHNREMEH a,{f () + f(x) = cos x
£©0)=0

KIFf(x) = %(sin x+cosx—e™)
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